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Solve above problem using fractional knapsack also using greedy approach
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a)  Whatare the different mathematical notations used for algorithm analysis.
b) Write Divide — And — Conquer recursive Quick sort algorithm and analyze the
algorithm for average time complexity. [10]
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Consider the following recurrence
T(n)=8T(n/2)+ n
Obtain asymptotic bound using substitution method.
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Write down the Floyd Warshall algorithm to solve the all pairs shortest paths problem
on a directed graph. Run your algorithm on the following weighted directed graph 3
and show the matrix Dy, that results for each iteration of the outer loop. [10]
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Determine the cost and structure of an optimal binary search tree for a set of n = 7 keys
with the following probabilities. Where (pl...p7)={ .04 .06 .08 .02 .10 .12 .14}
(q0....q7) =1.06 .06 .06 .06 .05 .05 .05 .05} [10]
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Solve the following 0/1 Knapsack problem using dynamic programming
P=(11, 21, 31, 33), W= (2, 12, 23, 15), C=42, n=4.
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Do the following operations of priority queues?

(i) Construct the min and max priority queue with the following
elements20, 10, 5, 18, 6, 12, 14, 4, and 22.
(i) Insert 2 and 28 in the min priority queue?

(iii)  Perform two successive deletion operations on max priority queue?
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b)

Create an AVL Tree using the following data entered as a sequence set. Show
the balance factors in the resulting tree:

13,22,6,9, 32, 55,79, 65, 70

Insert 42, 43, 46 and 49 in the above constructed AVL tree and show a balanced
AVL Tree.
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What is Minimum cost spanning tree? Explain an algorithm for generating minimum
cost Spanning tree and list some applications of it. [10]
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1) Explain the greedy technique for solving the Job Sequencing problem.
b)  Write with an example of Prim’s algorithm.
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a)  Discuss the time and space complexity of Dynamic Programming traveling sales person
algorithm.
b)  Write an algorithm of matrix chain multiplication. [5+5]




